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TrigonometryExercise for No.9012

Nol = (tan(A)—gj No2 = (cot(A)—7j No3 = (cos(A)— ] Nod4 = (sec(A):%]

A =(y=sin(0)) 2=(y=6co0s(0)) J=(y=sin(20))
0 1
Nos — 4=(y=4cos(30)) 5—()/ 4sm(gD .6=(y=gcos(46)—5j
r(y-Lsinn)] s-(y-2snZ2)+2] A
7= y——531n( n0)] .8=|y=-2sin + TH |
3 . .
y=_sin(2ntx) y=-— cos( j+4 y=-sin(x)—2
Nob6 = 2
3 (Mj A ; (1) MA
y—2cos S ) y=-3sin 2 e
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TrigonometryExercise for No.9016

Nol = (COS(A) = 3], No?2 = (sec(A) = gj, No3 = (tan(A4) =x), No4 = (csc(A) = %)

Nob =

[ . I=(y=cos(0)) 2=(y=6sin(0)) 3=(y=sin(20)) |

4=(y=-6sin(59)) ‘5:(3’:_%“’5(3 G)J .6=(y=—6 cos(%j+3j

(mO 1 . MA
_.7:(y:—4sm(7j] .8:(y:—§sm(4n6)+5j E
5 X 5
y=-sin(x) + 3 y=5cos(5j y=—5sin(2nx)+2
No6 = X 5 MA
y:3cos(§]—3 y:—gcos(an) E

. =7
N (@3] (9] ~

A R —

/
g
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TrigonometryExercise for No.9018

2 8 ) 6 X
Nol = (tan(A) = g], No2 = (cot(A) = 5), No3 = (sm(A) = ;j, No4 = (sec(A) = g]

Nob =

2=(y=-5co0s(0))

oy

A =(y=sin(0)) J3=(y=cos(30))

4=(y=4sin(60))

ooz

X 5
y=—cos(x)—2 y=—3cos(;j+2 yzgsin(

) v
y =7 cos

1
——gsin(?’ 0)-— 3)
MA

1
5 cos(3m 6)—3]

J

y=—_sin
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TPRi/2 4P
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TrigonometryExercise for No.9036

R A G LE C e R C
Nol =|cos(A)==], No2=|cot(A)=7|, No3=|tan(4) = No4 sec(A):;

A =(y=cos(0)) :(y——3sm(6)) J3=(y=sin(60))
Nos = 4=(y=3sin(40)) ( =— cos(3 G)J .6=(y:—5 cos(%j—?:)
=l 2918(—2(H i
7= y=—"cos(2m0) y=-2sin 6 )~ TH |

Nob6 =

=— = — — |+
v cos 3 v sin 5
X

MA
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TrigonometryExercise for No.9037

Nol = (cos(A)— Sj No?2 = (cot(A) —7j No3 = (tan(A)— 3) No4 = (csc(A)=x)

A =(y=sin(0)) 2=(y=-4cos(0)) J3=(y=sin(30))
1
Nos = 4=(y=-4sin(30)) = (y 4cos( D ( 4cos(6(9)—lj
7= (=seos(an0)) 5=(y——rsin Z2)+1 ] d
T=(y=- : — —_— |+ —
I (v cos(4m9)) sin 5 TH
pl3) ez e JefS)s
s y—2sm 5 y=—sin(x) — y——2cos 5 )
T (M] o n ) 4 3 MA
y—2s1n 3 y=-3cos(2mx)+ TH
7
6
v
1 e T
__\ 1 \ T
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TrigonometryExercise for No.9138

R C e GO AR G
Nol = cos(A):4 , No2 = csc(A):4 , No3 = ‘[an(A):5 , No4 = sec(A):2
[ 1=(y=sin(0)) 2=(y=4cos(0)) 3=(y=cos(30)) |
Nos = 4=(y=2sin(30)) .5:(y:2cos(%jj .6:(y:—isin(39)—5j
_( _ 1(&]} s MA
_.7— y——3sm p S=(y=-5sin(3n0O)-3) TH |
3 (XJ 3 '(”j L eos(2 1) +3
y=3cos| | y=-3sinj—/—| y=—_"cos(2mx
3 3 2
o o) Mo
y=cos(x)—2 y=3sin 3 -4 TH
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J
7
y

v
\§\
A
T~
\§\
<

- -Pj/2 0 Pif2 Ri 3R 1\ Pi 5Ri/2 3Pi TPRi/2 4Pi

I
iy

o]
\I//

]
w

1
N

1
(&)

1
[9)]

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKKXKKKXXXXKKXKXKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXME/1-6300102-00007XX
TrigonometryExercise for No.9602

5 8 7 X
Nol = (tan(A) = gj, No2 = (sec(A) = ;], No3 = (COS(A) = ;j, No4 = (csc(A) =

Noj =

A =(y=cos(9))
4=(y=—-4sin(20))

6

2=(y=-3sin(0))

B~

1 0
.7:(y:——cos(7jj S=(y=-2cos(4m0O)-3)

5
3=(y=sin(60))
1
5
MA
TH

)

O6=y="cos(60)-2

J

5 TX o x
y:_ECOST +4 y=-2cos(2x)-2 y=251n5
No6 = X L MA
=Cos(x) + = SIn X -
y (x) y=3 ( ) TH
7
g A ~
6
/ 5 \ \
3 N /
e N > v
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TrigonometryExercise for No.9616

7 9 X X
Nol = (COS(A) = 5), No2 = (sec(A) = Zj’ No3 = (tan(A) = Ej’ No4 = (cot(A) = Z]

A =(y=cos(0)) 2=(y=-65sin(0)) J3=(y=sin(40))
0 1
Nos = 4=(y=06sin(50)) .5=(y=55in(zjj .6=(y:—gcos(36)—3)
b))
7= y——Ssm( n0)| .8§=|y=-3cos p + TH |
2sul3) s el ) |
s y=-2sin 3 + y——2sm 5 y=cos(x)+
I (1j _E(Mj4 M4
y=7cos > y=—cos 3 ) e
h\\\\\\\\ ,f’/f/
Yy
TN /X
L= T T i _—
- P -Pjf2 Pi Ri /2 2P 5Py 3Pi 7Pif2 4Pi
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TrigonometryExercise for No.10152

Nol = (tan(A) = g], No2 = (cot(A) = %), No3 = (sin(A) = %), No4 = (

1=(y=sin(0))
4=(y=5sin(20))

3
y=—5cos(2nx)+2 y=3cos{

Nob6 =

1
y=sin(x)—3 yzgcos(

2=(y=-6c0s(0))

s=r=sol )

.7:(y:—icos(%ejj S=(y=—4sin(5nt0O)-1)

X
sec(4)=—"

3=(y=sin(50))

MA
TH

X 1 (x

EJ y= _E s1n(5J -2
X MA

2 j TH

.6:(y:—§ sin(4 0) + 1]
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TrigonometryExercise for No.11738

: 4 8 6 X
Nol = (sm(A) = ;j, No2 = (sec(A) = 5), No3 = (tan(A) = ;J, No4 = (cot(A) = g]

A=

4=(y=4sin(20))

(y=sin(0)) 2=(y=-5co0s(0))

G

J3=(y=cos(40))
.6:(y=§sin(5 9)+3j

No5 =
7 ( l (nejj 8 4 S5nmO)+1 MA
I y 5cos 4 (v cos(5mO)+1) TH
) (ﬂ] PR DU ) (ﬂj
s y=-2sin 5 y—2cos( x) y=-2cos 5
s (1) , | MA
y—2s1n 5 y =sin(x) TH
7
6
b
/NN S /7
AN AN TN
-F\-P/Z / Piy2 Ri 3Ri/2 Pi 5Pif2 3P P2 4pi
4 /’//,# //// i///
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TrigonometryExercise for No.11754

6 7 ) X 6
Nol = (cos(A) = ;j, No2 = (sec(A) = 5], No3 = (sm(A) = Ej’ No4 = (cot(A) = ;)

Nob =

[ I=(y=cos(0)) .2=(y=4sin(0)) 3=(y=sin(50)) |
4=(y=2co0s(50)) .5=(y=icos(69) 0= y=—4sin(gj+3j
ool )] aefpfemoro)
_.7: y=-6cos 5 8= y=—Scos(6n9)—4 TH
s (x] 4 2 sin(2 mx) -2 2'(“]
y=—/cos| " |—-4 y=-2sin(2nx)—-2 y=2sin|
2 2 2
o =-2 2 = si 2 MA
y=-2cos(2x) y=sin(x) — TH
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TrigonometryExercise for No.11841

Nol = (sm(A)—ZJ No2 = (sec(A)—gj No3 = (tan(A)— jNo4 (csc(A):%j

A =(y=cos(0)) 2=(y=5sin(0)) J=(y=cos(50))
0 1
Nos — 4=(y=-3cos(40)) 5:()/ 4cos(5D .6=(y=gsin(26)—3j
1 MA
.7:( :——cos(Sne)] 8= ( :—6sm( j—Zj —
L 2 TH i
X TX
= sm( +3 y= s1n(2 nx)+4 y= 2sm( j
N06= 2 2
y=-3cos 3 y=-cos(x)— -
£, Y 1 g

/
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TrigonometryExercise for No.11842

7 2 3 4
Nol = (COS(A) = 5), No2 = (cot(A) = g], No3 = (tan(A) = ;], No4 = (csc(A) = ;]

d=(y=cos(0)) 2=(y=5sin(0)) J=(y=sin(50)) |
0 1
No = 4=(y=5sin(30)) .5=(y=—4cos(;D .6=(y=—gcos(29)+2j
7 (y-asin )] 5[y Lsinano)-1 MA
7= y=—4sin 5 8= y——ssm( no)- TH |
g y—zcos( x)— y——2sm 3 ) y=sin(x) —
A I i-(ﬁj MA
y=2cos(2mx) y——251n 3 TH
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TrigonometryExercise for No.11901

Nol = (sin(A) = %), No?2 = (csc(A) = %), No3 = (COS(A) =3 j, No4 = (cot(4)=1x)

3=(y=sin(40))

iy

Noj =

i

=(y=sin(0))
4=(y=06sin(50))

2=(y=-2cos(0))

1
S= yz—Esin(S 0)

X

. 1 7 0
J=(y=-5sin(27m0)) .82()/2—2%5(7]— l]

MA
TH

s y=3cos 5 y=2cos 5] V= 2sm 3
) MA
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TrigonometryExercise for No.11947

5 9 ) 4 X
Nol = (tan(A) = g], No2 = (sec(A) = gj, No3 = (sm(A) = ;J, No4 = (cot(A) = ;]

A =(y=sin(0)) 2=(y=-2co0s(0)) J3=(y=sin(50))
0 1
Nos = 4=(y=-2sin(60)) .5=(y=—6cos(gj) .6:(y=gcos(49)—lj
7 ( l (ROD 8 4sin(3w0O)+3 A
I y 3cos 4 (v sin(3tO)+3) TH
2 sin(2 2 (ﬁ] 2y (ﬁj
g y=-2sin(2nx) y=-2cos 5 )~ y—2s1n 3
. oL (Mj ,
y=—cos(x) — y—2s1n 3 ) TH
7
6
b
1 L =t e ~~
L+ TN
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TrigonometryExercise for No.11989

5 8 X 2
Nol = (COS(A) = gj, No2 = (sec(A) = ;), No3 = (tan(A) = Ej’ No4 = (cot(A) = ;]

Nob =

A4=(y=-6sin(20)) .5=(y:500s(%n .6=(y:—ésin(3 9)+4j

A =(y=sin(0)) 2=(y=—-4cos(0)) 3=(y=cos(40))

. (m9 . MA
_.7=(y:—4 sm(TD .8:()/:—5 sm(2n6)+2j _TH |
s y= 2sm( nx)+3 y= 2cos( X) y—231n 5
T X MA
y=2 cos(—3 j y=—cos(x) _TH

~
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TrigonometryExercise for No.11996

Nol = (COS(A) = %], No2 = (sec(A) = gj, No3 = (tan(A) =7 j, No4 = (csc(A) = ij

1 =(y=sin(0))

2=(y=-6c0s(0))

X

5
3=(y=sin(50))

4=(y=-5co0s(60)) -5=(y=—§cos(4 e)j ,6:(),:5%5(2)_5)

No5 = 3
7( I'UODS( 3 cos(470)+4) MA
J=ly=—"sin| —/— S=(y=-3cos(4m0O)+ —
A O W 4 TH |
(mx 3 X
y=2cos(2x)-2 y=—231n(7)+3 y=—5005(3]
Nob6 =
© ) 3. (nx] MA
= COS + =——sin| — nfm—
y (x) y=- 3 TH
7
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Y
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TrigonometryExercise for No.12889

Nol = (sinu) - %j No2 = (cot(A) = 2] No3 = (cos(A) - %j No4 = (sec(4) = x)

d=(y=cos(0)) 2=(y=-3sin(0)) J3=(y=cos(30))

Nos = 4=(y=4cos(20)) .5=(y=—§sin(49)j .6:(y=2cos(%j—3j
1 (n6 . MA
.7:(y:—zsm(7jj S=(y=—4sin(6n16)+4) E

g y—2sm( TX) y—2cos 5 y=-2cos 3
31X MA
y=-cos(x) y= — s1n( 3 j -4 e
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TrigonometryExercise for No.12890

No]:(COS(A):g],No2:(csc(A):%j (tan(A)—3jN4 (sec(A4)=x)
[ I=(y=cos(0)) 2=(y=—-4sin(0)) 3=(y=cos(20)) |
Nos = 4=(y=-4sn(30)) 5=(y——;sn(49) 6= y:2sin(%j—3j
MA
J=(y=-6sin(510)) 8:( —cos( ] ] E
T 5
y=-2cos (2 J+3 y=-2sin(2x) y—Ecos(Zx)JrZ
o= 5 1] 7]
y:251n 3 y=-—cos(x)+3 p——
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TrigonometryExercise for No.12891

Nol = (tan(A) = 2], No?2 = (sec(A) = gj, No3 = (sin(A) = %J, No4 = (cot(4)=x)

A =(y=sin(0)) 2=(y=-5co0s(0)) J3=(y=sin(60))
1 0
Nos = 4=(y=—6c0s(50)) 5 (y 3cos(6(9)J 6 (y COS(SJ )
ek ) st )
7= y=-2cos 5 8= y——3sm( no)- TH |
L[ mx 1
y=3 sm(—j -4 y =—cos(x) y=——_cos(2mx)
Nob6 = 3 2
2 (1] 2 sin(2x) - 2 M
y——zcos 5 y=2sin(2x) - -
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TrigonometryExercise for No.12917

st =3 vz == v = anc1 5 L o=t -2
Nol =|sin(4)="1, No2=|csc(A)=7|, No3=|tan(4) =" |, Nod =|sec(4) =
8 2 7 X
i d=(y=cos(0)) 2=(y=4sin(0)) J3=(y=sin(60))
Nos = 4=(y=-2co0s(30)) .5=(y=—2sin(%j) .6:(y=isin(39)—4j
1 (6 MA
_.7:(y:—4cos(5n9)) .8:( :_SCOS( 4 ]+2j TH
y=—cos(x)—1 y 2sin(ﬂj y ésin(ﬂ]+4
2 2 2
No6 = X o x MA
y=-2 cos(;) y:3sm(;j+3 E
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TrigonometryExercise for No.13099

3 5 X X
Nol = (COS(A) = Zj’ No2 = (cot(A) = ;], No3 = (tan(A) = ;], No4 = (sec(A) = g]

[ 1=(y=cos(0)) 2=(y=5sin(0)) 3=(y=sin(60)) |
NoS = 4=(y=—-6c0s(40)) .5=(y=—§sin(36)j .6:(y:6sin(gj+4j
pgann) aofmornl )
_.7— y——6sm(4n )| .8=|y=-5sin p +2 TH
2 cos(2 x) > '(xj+4 > (”jw
Yy =4<CO08 X y=—_8In| y=——_C0S§ —_—
27 \2 2 2
Nob6 = B s M_A
y =sin(x) y=3sin(2mx) TH
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TrigonometryExercise for No.13100

X

Nol = (tan(A) = %), No2 = (cot(A) = %j, No3 = (cos(A) =7 ], No4 = (sec(A) = 3]

Noj =

A =(y=sin(0)) 2=(y=4cos(0))

J3=(y=cos(20))

4=(y=—-4cos(60)) .5:(y=3cos(%jj .6=(y:§cos(2 6)—3)

1 T o MA
_.7:(y:—zcos(TD S=(y=—-4cos(3nH)—4) E
g y= 2cos 5 + y—251n( mX) y=-2cos 5

| X MA
y:3s1n(;j y=—cos(x)—3 E
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TrigonometryExercise for No.13139

X

Nol = (tan(A) = gj, No2 = (cot(A) = %), No3 = (cos(A) =2 ], No4 = (csc(A) = %)

1= (y=cos(9)) 2=(y=3sin(0)) 3=(y=cos(20))
Nos=| 4= (r="4cos(36)) -5=(y=—§sin(49)J -6=(y=—2 sin(%j—sj
L n 0 MA
.7=(y:—§sm(6n9)] .8:()/:—4 COS(T]—4] T

TX

TX
y=-sin(x)—-1 y=-3 sin(Tj y=2 COS(T) +4

No6 = X I (x MA
- y:——smg -3 —
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TrigonometryExercise for No.13411

Nol = (cos(A) = %j, No?2 = (sec(A) = %), No3 = (tan(A) = %], No4 = (cot(4)=x)
A =(y=cos(0)) 2=(y=-5sin(0)) 3=(y=sin(20))
Nos = 4=(y=3cos(40)) .5:(y:§sin(3 6)] .6:(y=—4sin(%j—5j
1 . no MA
.7=(y:—gsm(4n9)] .8:(y:—2cos(T]—l] E
5'(“]3 3'(xj in(x) + 1
y=7sin |- y=3sin y =—sin(x
2 3 2
vest A T TV
y=-2cos 3 y——2cos 5 + e
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